
www.certipik.com                                           Certi-Pik, USA                                         Litho in USA 2020



Item Part OEMPart DescQty

John Deere 9976-CP690 Grid Bar and Cabinet Supports 20-14

SHEET - THROAT (9976-9996)AN273507735071.1 1

SHEET - THROAT (7760-CP690)AN372916729161.2 1

BOLT  - M10 X 20 - SMOOTH HEX FLANGE - GD 10.919M778407784P2 AR

PRO GRID BAR - FRONTN277542775423 19

PRO GRID BAR - REARN277543775434 19

CHANNEL - REAR GRID BARAN273413734135 2

NUT - M8 - TUBE - REAR GRID BARN274171741716 AR

BOLT - M8 X 16 ROUND HEAD - SQR NECK03M718307183P7 AR

BOLT - M8 X 20 ROUND HEAD - SHORT SQR NECK03M738607386P8 AR

NUT - M8 - FLANGED TOP LOCK14M729807298P9 AR

BOLT  - M8 X 16 - SMOOTH HEX FLANGE19M786507865P10 AR

NUT - M10 - SERR HEX FLANGEE6352663526P11 AR

DEFLECTOR - REAR CABINET (REPLACES N275264)N3746497464912 1

PANEL - REAR CABINETN2741487414813 1

POST - FRONT CABINET (9996, CP690, 7760)AKK131321313214 1

ANGLE - FRONT GRID BAR BOLT COVERN3731957319515 2

ANGLE - FRONT GRID BAR HOLDER (9986, 9996, CP690, 7760)N3731937319316 2

PANEL - MID CABINETAN2726367263617 1

BOLT - M10 X 20 ROUND HEAD - SQR NECK03M719007190P18 1

www.certipik.com                                           Certi-Pik, USA                                         Litho in USA 2020


